
 

Triton Duo Dowel Jointer - TDJ600



Diag. Ref. Part No. Description Qty Comments
1 TDJ600001 TWIST DRILL 2
2 TDJ600002 SCREW 2
3 TDJ600003 TAPER PINS 2
4 TDJ600004 COVER 2
5 TDJ600005 O-RING 18x1.5 2
6 TDJ600006 GEAR CASE COVER 1
7 TDJ600007 HExAGON SOCKET SET SCREW 2
8 TDJ600008 OUTPUT SHAFT 2
9 TDJ600009 BALL BEARING 609 2
10 TDJ600010 BAFFLE PLATE 2
11 TDJ600011 TIMING BELT PULLEY 2
12 TDJ600012 CIRCLIP FOR SHAFT 2
13 TDJ600013 BALL BEARING 627 2
14 TDJ600014 TIMING BELT 1
15 TDJ600015 SCREW ST5x25 2
16 TDJ600016 SCREW M8x16 2
17 TDJ600017 HANDLE 1
18 TDJ600018 HExAGON NUT M6 1
19 TDJ600019 TIMING BELT PULLEY 1
20 TDJ600020 BALL BEARING 6000 1
21 TDJ600021 BEARING RETAINER 1
22 TDJ600022 ARMATURE 1
23 TDJ600023 BALL BEARING 606 1
24 TDJ600024 RUBBER BEARING SEAT 1
25 TDJ600025 FAN BAFFLE 1
26 TDJ600026 STATOR 1
27 TDJ600027 SPRING RING 2
28 TDJ600028 GEAR CASE 1
29 TDJ600029 SCREW ST3x10 2
30 TDJ600030 STATOR CASE 1
31 TDJ600031 PUSHER 1
32 TDJ600032 BRUSH COVER 2
33 TDJ600033 CARBON BRUSH 2
34 TDJ600034 BRUSH HOLDER 2
35 TDJ600035 NAMEPLATE 1
36 TDJ600036 SWITCH 1
37 TDJ600037 CAPACITOR 1
38 TDJ600038 PUSHER ROD 1
39 TDJ600039 SPRING 1
40 TDJ600040 SCREW ST4.2x14 4
41 TDJ600041 REAR COVER 1
42 TDJ600042 CORD PLUG 1
43 TDJ600043 CORD PROTECTOR 1

Triton Duo Dowel Jointer - TDJ600



Diag. Ref. Part No. Description Qty Comments
44 TDJ600044 CORD CLAMP 1
45 TDJ600045 INDUCTOR 1
46 TDJ600046 TERMINAL BLOCK 1
47 TDJ600047 BRAND 1
48 TDJ600048 ANGLE PLANK 1
49 TDJ600049 PARALLEL PINS 2
50 TDJ600050 M4X4 2
51 TDJ600051 HEIGHT INDICATOR 1
52 TDJ600052 KNOB 1
53 TDJ600053 FENCE 1
54 TDJ600054 PINION, KNOB, O-RING 1
55 TDJ600055 SCREW M5X6 1
56 TDJ600056 SPRING WASHER 5 5
57 TDJ600057 ADJUSTING DRILL DEPTH 1
58 TDJ600058 CARRIER SUPPORT 1
59 TDJ600059 HEIGHT SCALE 1
60 TDJ600060 SCREW M4X6 2
61 TDJ600061 COMPRESSION SPRING 1
62 TDJ600062 SPRING GUIDE 1
63 TDJ600063 PARALLEL PINS 4X16 2
64 TDJ600064 SCREW M4X10 8
65 TDJ600065 SPRING WASHER 4 6
66 TDJ600066 GIB 2
67 TDJ600067 BASE 1
68 TDJ600068 BAFFLER 1
69 TDJ600069 DEEPNESS KNOB 1
70 TDJ600070 DEEPNESS SCALE 1
71 TDJ600071 NUT 1
72 TDJ600072 DEPTH INDICATOR 1
73 TDJ600073 COVER BOARD 1
74 TDJ600074 PLAIN WASHER 2
75 TDJ600075 COMPRESSION SPRING 2
76 TDJ600076 PIN 2
77 TDJ600077 ANGLE INDICATOR 1
78 TDJ600078 M4X8 1
79 TDJ600079 KNOB 1
80 TDJ600080 PLAIN WASHER 5
81 TDJ600081 SCREW M5X25 4
82 TDJ600082 BALL SO5 1
83 TDJ600083 COMPRESSION SPRING 1
84 TDJ600084 SCREW M4X6 3
85 TDJ600085 CLARITY COVER 1
86 TDJ600086 DUST EXHAUST TUBE BENT 1
87 TDJ600087 HEX KEY 1

Triton Duo Dowel Jointer - TDJ600


	TDJ600_PARTS_DRAWING.pdf
	TDJ600_PARTS_LIST_PAGE1
	TDJ600_PARTS_LIST_PAGE2

